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1. (3pts) Sketch angles in standard position with indicated degree angle measure.
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2. (3pts) Sketch angles in standard position with indicated radian angle measure.
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3. (8pts) Indicate both the radian and degree measure under the following angles. (Use
equally-spaced auxiliary lines to help you determine what the angles are.)
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4. (5pts) Convert the angle 63.28° to
a) DM'S" form (show work!)
b) radians.
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5. (5pts) Nashwville, TN (36° north latitude) is almost directly north of Pensacola, FL (30°
north latitude). Find the distance between those cities; assuming that the radius of Earth
15 3960 miles.
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6. (6pts) A car whose tires have radius 22in is traveling at 45mph. How many revolutions
per minute do the wheels make?
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